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_A4 E8 AF 81 c104 167017.htm 16. Which keyword should be
used to enable interaction with the lock of an object? The flag allows
exclusive access to that object. A. transient B. synchronized C.
serializeD.staticU 0 0O 000000000 OOOOOMO
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[ synchronized] 0O O O O O O O O 17. Which is the return type
of the method main()? A. int B. void C. boolean D. static [J [
manQU O OO0D0OO00000 O0O0BOO Ojavadl OO OO
DO0000O0man)UO0O00O0OOODOOO O public static
void main(Stringargs[ DU 0 00000000 ooooodo
O0dadcOOODO0OO0OO0O0OO0DOOOOman)OOO
Oman)U O 0000000000000 man)UO0OOO
OO0000000man()U OO O 18. Given the following code:
If (x>0) { System.out.printin("first"). } else if (x>-3) {
System.out.printin("second"). } else { System.out.printin("third"). }
Which range of x value would print the string "second"? A. x > 0 B. X
>-3C.xDx3000000odoooxabooooao
DOo00000000"econd"d OO DOO x>00 0O O "first"
[ x>-3amp.x 19. Given the following expression about TextField
which use a proportional pitch font. TextField t = new



TextField("they are good",40). Which statement is true? A. The
displayed string can use multiple fonts. B. The maximum number of
characters in a line will be 40. C. The displayed width is exactly 40
characters. D. The user can edit the characters. 1 [0 0O 0O 0O O 0O O
D000 000000odoodTextrieldd D OOO O O
00000 A D000 Oo0o0ooooooobDos.d
Jdododododd4oc.ounououou4ounouonou b.
Do0000o00o00d 00 D00 00T TextField OO0 OO0
J0odoboooooodoooooooooooooa
J0o0doo0oooodoooooooooooooa
JO000o00o0oo0oodooooooooooooon
J000o00o0oo0oodooooooooooooon
Jododoboboooodobooouoooooooooa
Jododoboooooodobooouooouoooooa
Jododobooodoodooooooouoooooa
Jo0odooooooodoooouoooooooooa
J0o0dooooooodoooooooooooooa
J0odoboooooodoooooooooooooa
20. Which statements about the garbage collection are true? A. The
program developer must create a thread to be responsible for free the
memory. B. The garbage collection will check for and free memory
no longer needed. C. The garbage collection allow the program
developer to explicity and immediately free the memory. D. The
garbage collection can free the memory used java object at expect
time. 00 DO00OOD0OO0O0OOO0OOOOOOAODOOOO
Jododobodooooooooouoooo s 0Ooooo



ODoo000000Ooo0oog c.oooooboooooob
O000ooocooboooDbD.cooboonouoooooboon
OOjavad 000000000 BUOOJavald 0000000
O00dooooooooooooooooonooogn
O00doooooooooooooowvwmoooognd
O00d0ooooooonoooooooooonooogon
Doo0d0oddoooodbodjavab 00 oo0ooooon
OD000ooooobobooooooooooooon

[ System.gc()U O O O Osuggestl VMO OO O OO0 OOo
ODo0o0o00000o0oooouooooooooooinvMa
O000oooooboooooooooooonoooon
O0000o0o0oo0o0000oooooooooonoooon
OD00dooooooooooooooooooogno®
OO0 ddoooooooooooooooooon
OSystemgcQU U O OO OVMOUOOOOOOOOOOOO
OO0,00000000000b0ocoboboonoooon
100Test U D OO O OO0 OO0O0O0O0o0oOoOOOOOOOO
www.100test.com



